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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q1. A candidate who gets 20% marks in an examination
fails by 30 marks but another can candidate who gets 32%
gets 42 marks more than the pass marks. Then the

percentage of pass marks Is:
ERi Eri%lgmﬂ b1 Teb TRI&M H 20% 3febYT BId 8 3R 98 30

31 A D Bl ST § AfchT G UfaaIit bl 32% 3feb UI

@?f%\?ﬁ?d{- 0TI T 42 3ih 34fh U gid & o <ot
3 coluﬁmﬁ?ﬂ%’? 2)52%

b) 50%
c) 33%
d) 25%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q2. Ram spends 40% of his salary on food, 20% on house rent,
10%on entertainment and 10% on conveyance. If his savings at
the end of a month are 1500, then his salary per month (in ) IS :
I HUH dd- B 40% ‘J-II\SI'-I UR, 20%YR & WW 10% J-I'-IIQ\YI'-I
TR 3R 10% TIAAId R T BT ¢ | Jie Al 3id & 39 994
1500 §, Il DT HIRID da- fbdT 6 ?

(2)80000
(0)75000
(€)60000
(d)10000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q3. A person gave 20% of his income to his elder son, 30% of
the remaining to the younger son and 10% of the balance, he
donated to a trust. He Is left W|th10080 His income was

U ST U] 3T BT 20% TS S DI, 31 BT 30% BIC 9e
Pl AT B 3R N AU BT 10% Th CL PIGH & &dl 8 | IHb
U 3{d 10080 ]V ¢, a‘r 3TP! AT T 87

(a) 50000
(b) 40000
(c) 30000
(d) 20000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q4. A man spends 75% of his income. His income increased by
20% and he increased his expenditure by 15%. His savings will
then be increased by:

Ueh SfeRT 31UTI 311 BT 75% T & SHBI 3T 20% &7 g1 STl
%sﬁ?ag 3T TI H 15% P gfg PR adl 8, I9P gad H fbda

gfa=rd @1 dfs ©

a) 33%
b) 33.33%
(c) 35%
(d) 40%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q5. If the iIncome tax Is increased by 19%, the net
Income IS reduced l% 1%. The rate of In come tax Is:

Tl SMABR H 19% i gia Bldil & dl UHTAT 31 H Th
Tfa=Id &1 HH BIdl 81 HTIHR Bt &2 JTd HI?

(a) 6%

(b) 4%

(c) 5%

(d) 7.2%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

QG6.If the base of triangle Is increased by 10% and height is
decreased by 20%, then what will be the percentage change
In the area of a triangle?

Tfe v YN & SMTUYR H 10% P gig &1 Wl & qu1 Hars A
20% ﬁﬁﬁﬁ]‘cﬂ% dl BYS & &F%d | fd-r ufazra &1
uRacH gI?

(a) 30
(b) 20
(c) 22
(o) I W




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q7.If the height of cylinder is increased by 35% and radius Is
increased by 10% then what will be the percentage increase in
curved surface area of cylinder?

gfe Th 9 DI Hdlg U 35% DI gla BHIoilc & adl Bsar o
10% ﬁg@ﬁﬁﬂ?ﬂ dl 9@ @ dsh U8 &Athd | fobaH
Uid=Id i gig gINil?

(a) 46.5
(b) 45

(c) 48.5
(d) 49.7




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q8.There are 1500 students in a school in which 44% are girls and
monthly fees for each boys Is 540 rupee and fees of each Girl Is 25%
less than that of boys ,then find the sum of fees of boys and glrls ?

Uh WA H 1500 W%mﬁ 44% TSfHTT € 3R YD AP &l HIYD
B 540 ¥0A § AR T TSH! DI 1Y ASDI DI goil H 25% DH 8,
dl Al 3R TSPl Bl WIG BT AN JTd BITT?

(1)720600
(2) 720900
(3) 721000
(4) 720800




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q9.A man spent 40% of his income on food and 1/3 of remaining on
transport He spent total 4500 rupee on the food and transport it is
equal to the half that he is as saving then find the salary of the man ?
TdH TGH! H 30T 3 BT 40% HISH WR 3R Y HT 1/3 TRdeT R Gd

a1 3 HIWH TR 3R TR P 4500 3 T fohT Tg 318l o
RIS & ol gad b U T g dl HSH! BT ddd Giui?

(1) 22500
(2) 24000
(3) 28000
(4) 12000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q10. If the Income of a person Is increase by 25% In first
year then in second year it is reduced by 4% with the same

process his income after 5years will be 72000 rupee then
find the present Income ?

gfe ggal 9y H fohdl fad B 31 H 25% $1 i aidl g dl
GO Y T 39U HH! AT § 5% o d1G IUP! T 3T Uleha
1Y 4% 72000 ST BN I Id9 Bl Glol 32
(1) 42000
(2) 66600
(3) 40000
(4) 74000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q11.In a garden 60 % tree are of coconut ,and the number
mango tree Is 25% of coconut Tree and the number of apple
tree Is 20 % of mango tree ,if total number of apple a Tree are
1500 then find the total number of tree?

Ueh i § 60% US TIRTA & &, 3R 31TH &I IS RIS BT 25%
% S?R% P US B G- 3H & US BT 20% 3, 3R o GBI |
b & 1500 & I J&1 BT P TBAT I BISA? (1) 40000

(2) 24000
(3) 52000
(4) 50000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q12.In a village 25% male are married and 45% female
are married If one male can marry with one female then find

the married population of the villa

ied | e 1
Uh 7119 H 25 %Wm{%ﬁ%\%ﬁ?%%%m

[ Y faarg a2

faarfed € afg e %wwrr%p

TohdT g dl TI1d i

ST RSAT T JdT U

(1) 32.14%
(2) 13.33%
(3) 14.14%
(4) 25%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q13.A person want to purchase a car that is why he saves half
of his income by which he can buy in one year , if he want to
buy In 8 month ,then by what % saving Is to increase ?

U SgfeRki Teb PR TRIGAT A6l & Tl PR g fob I8 37U+t 3
o1 3T fRTT ST B foreh g1 a8 Ueb a8 H TG Tehall 8

trl%a‘s’sﬁﬁfr TSRt ATedT 8, df fbda % & sad e 22

(1)40%
(2)45%

(3) 50%
(4) 60%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q14.A man give 20% income tax of his income ,if his
iIncome increased by 25% and tax rate become 140% of
itself then find the increase rate percent on tax ?

T 3TGHT U 31T BT 20% HTDR odl §, Tl IUD! AT H
25% 1 Gig B3 IR DX DI a2 140% Bl T3 ol P IR ghg a3
DT U= T hR?

(1) 75%
(2) 40%
(3) 50%
(4) 30%




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q15.In an election between two candidates winner got
66.66% of total votes and won by 200 Votes then find the
votes that looser got ?

ol IFCARI & sfte U F1d H oIl bl oo Al BT 66.66%
AT 3R 200 @i ¥ Sitdr df ,8RA did &l dic fid ?

(1) 100
(2) 200
(3) 500
(4) 600




Q16.

SSC CGL/CHSL TIER 2 (CRASH COURSE)

In an election between two candidates 20% votes were

invalid ,one got 40% of valid votes And was defeated by 1600
votes find the total number of voters Iin a voter list ?

&l SHIGAR] & &g U
39 g fid 3R 160

Aderdrsdi ot 9

|

(;OI;I%"IIOI

T 20% dlc 3AY ¥ TP Pl 40%

Y QRIS 34T Haardl &t § $d

O

(1) 10000
(2) 55000
(3) 50000
(4) 83000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q17.In an election between two candidates 22.22 % voters did not cast
their votes and 14.28% votes were invalid and winner got 66.66% of
valid votes and won by 2000 votes find the total number of votes In
the voter list ?

Eﬁsﬂﬂm P aﬂ%r U G H 22. 22% HTGTATS]f = 30U die el STal

3R 14.28% dIc 31dY A 3R fauidl Bl 66.66% dY dic fid 3R 2000

aﬁz“r@rrvﬂ%r ST H\Eﬂﬁ $d dic qncl coe ?

(1) 6000
(2) 9000
(3) 7000
(4) 4000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q18. In an election between two candidates 10% voters did not cast
their votes ,60 votes declare invalid ,a winner got 47% of total
reaglstered votes and win by 308 votes ,find the total re%%fered vote

SR & &9 Th FATd H 10% TAaTATaN 3 SR o, 60
qie 3(ay Hiftd gY, T PHIHd Uoilgpd alel & 47%ﬁIFIT3?T 308
dIci ¥ Sfid g% , $ol Uslipd dic 2

(1) 4200
(2) 6200
(3) 9000
(4) 8000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

In an election between two candidate 20% voters did not cast thel
invalid ,If winner got 71(3/7)% Of total votes and won by 270 vote
votes

<l IMWIGART & §id U g1 H 20% HeTdIsfi = 30 qic Tei ST
gfc; fasidl &1 od Jdl &1 71 (3/7)% {1 3R 270 Al ¥ Sitar df &

O

(1) 900
(2) 1000
(3) 1300
(4) 2000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

In a hostel 800 boys live ,75% of the boys play hockey and
50% play football .each boys play either hockey or football or
both ,how many boys play the both games

Uch g1l H 800 IS B4 &, 75% TS B! Wald g 31k

-\

50% Wedld W d &1 TShl B gl a1 Bedrd Wal Udg g T

3, T A d gl 19 Waid gl

(1) 360 00
(2) 15000
(3) 21000
(4) 12000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

If the Income of a man Is increased by 6000 rupee then the rate of tax redt
to 15% ,whereas in both the Condition 25 % of income is tax free ,then fin
iIncome ,if in both the cases the income should be equal ?

3R fordl 3T B 3T 6000 TUT §¢ ST & A BR BT <X 18% J TTHR 15
ST BTAd § 25% 311 R Ha 8, afe S 3 oIk = @Y oirg ITHH B

(1) 360 00
(2) 15000
(3) 21000
(4) 12000




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Inside the fresh fruit water is 68% and In dry fruits water
IS 20%,then find how much

dry fruit can obtain from 100 kg fresh fruit?

TSl Bedl o U1 o 3R 68% 3R I /4l § THT 20%
gidr 8, T fhaT g1 wa

100 foell dTol Bl T Tt R Gehell &7

(1) 40
(2) 15
(3) 30
(4) 40




SSC CGL/CHSL TIER 2 (CRASH COURSE)

In an examination of x question ram answered 20 right question out of
25 question and he also answered 60% of right answer in second
examination if he got total 66.66% marks then find the value of x
TH UR0e H x HaTd 8 JH 20 ol FaTd Bl g 25 H, AUdrgas 9o A
60% UT BT 831R B 66.66% UTW BId § df x BT A HbTal?

(1) 68
(2) 27
(3) 50
(4) 75




